FLuT = yjeol

LiserTANGO (P2

dwarsfiuit
g 1
dwarsfiuit
=
)]
dwarsfiuit
; 9
dwarsfiuit
g 13
e
dwarsfiuit
17
45 J 5
O} == = = -
dwarsfiuit [
21
3 —
3 ! 1 2 - ——
dwarsfiuit
25
= =
] i
dwarsfluit
29
£y o |
1 7]
e I r ; Ir‘ ey
33
—— Y [ 8] Y h
& — E=ci==50
D)} T : ~lawt—
dwarsfiuit
37
< 2 -
o I = ! ¥
pumm 41
Y 1 1 A
% o i o
- v t
dwarsfluit —
$ St =
—= I ——
X el f “' I
\av ; Irj —Ip L 1)
) i | g -
49
&° = =S ESEs=s
o g %
3 4 F—F 4




FLOIT «_VigoL + LiBEL7ALE0 §F

53
P= ==IZ=E ’ ’
? . 57 5___#_43_.‘_3._
g,q s : 61 . Lre
’ 65 P £
= = | F:FEEFZB:
gﬁ - 69
‘ . - 73
- 77
= 81
— 85
89
= -*wm

e
1]

eg



720/7‘4 L/ 0o0¢ LiBERTANGO (P
dwarsfiuit
% 101
w e = — L3
e)
dwarsfiuit
= 4
= = ":.5' = E | o #Fﬁg e i
o = ey
dwarsfiuit
i‘ 109 * o
[ an) — ‘r #‘FH ) ==
;J 4 ] = I—& -
dwarsfluit
# 113
w = = e -
e
dwarsfiuit
% 117
S5, -
dwarsfiuit
g 121
!} -
dwarsfiuit
% 125
U -
dwarsfiuit
———= =
d:;rm — =
% : 133
; _g_ { 4 § L8]
dwarsfiuit
1 137
1 3> | ey .
% F‘l 141 i |
| e | Y = I — o
dwarsfiuit
145
%ﬁ g A ?‘} ——]
e |
dwarsfiuii
r- 149 -
— _}
| [ i = ‘: .A




TFlorT=< vIR] « Lisectanca (75

dwarsfluit
T~ :

1 |"} 1 % N o :
g

| b 157
;%"" % == = = = o =
dwarsfiuit
2 ~— = N——Y
Hote . o =




